Full Marks = 80

Tlme - Three hours

The ﬁgures in the margm 1ndlcate full marks
3 : for the questlons

-

Answer all quesnons

“he 0S€E the correct answer } 1><10——10

, ) Which one ()f the followmg s not an :
- objectlvc of HRM 2

3 {1) Socxetal objecnve : ,
(u) Orgamsatlonal objecnve__ 7
{"‘)f ““CUOﬂal Objechve o =

(1v) Persenal objecnve




P

(u) Nll value to monetary aspects
(m) Identiﬁcatlon of recrultment needs

(1v) Non-seleetlon of preferences

Yo What i’s.me full‘form"of TQM"" |
- ) Total Quantlty Measuremenb
(n) Total Quantxty Management
(111) Total Quallty Management |

(w) Tnne ks Quallty Management

(d) What level of defects ‘are acceptable unde ;

the Sxx Stgma pr:ocess 7
b '_ o (1) 019 defeets per mllhon
o (n) 34 defeets per mtllton

(m) 233 defects per mtlllon

N

]
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(b) The element of a good recrmtment pollcy i

(1) Non-ldenuﬁcatlon of preferred sourc

(tv) 6 210 defects per mllhon o

{

Whlch element is not requlred m the process
ot Job evaluatrdn ’? L

.' i) Unclassxfymg j()bsf *: 2}

! (u) Constmmng ij evaluatlon connmttee

(f) Rankmg method 1s |

>

R (i) Preparatlon of jOb descmptlon
& |

(11) Selectlon of rates

IR S

(iii) Selectlon of rates and key jObS
(1v) Job gradmg

SR

!

) Whlch one of these beneﬁts is not cla551ﬁed o
as a frmge benefit in- Indla 2

(1) Employee Secunty EXpenses

'(u) Telephone Expenses o

e sl

(m) Health and Safety Expenﬂtture

a (1v) Voluntary arrangements

v

,-l)_HRMN(Mi) L :
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- obsolete in future if they do not up
~ themselves. because of |

(1) Increase m the size of fhe workforce
(i) \Changmg—composxtlon of workforce
(iii) Increase m HR po’iicies‘

(iv) Increase. in educational levels

) Workforce‘diversity ‘hieans :

@ Total number of employees workmg m,(

. an orgamsatlon

"‘(11) Ernployees are. snmlar to each other 4

” (111) Employees are dlfferent from each oth ‘

l (w) Total number of young people work
m thc orgamsatxon

, . , e
) Whlch one of these is not an extemak source

o of recrultment By
G Data Banks 0 ‘
(11) Present employees o
_(111) Unsohc1ted apphcants

_(1v) Advertlsements m newspaper

(h) I:IR Managers wﬂf ﬁnd themselves to

) What is an exn 1nterv1ew ‘7 e

very short answers (thhxn 3@ wcrds)
el 2><5*—IO
What is mducuon ‘7

i) What is. Kamen b
)What is dOWn slzmg 9 : . i

)What 1s _]Ob evaluation ? .

I short answers on any faur of the followmg
thin 100 Words) ' ‘ 5x4-—20 e

What is the scope o HRM 7 i
What factors affect recruxtment pohcy 2
‘i

‘ <Dlst1ngulsh between tradltlonal and v1rtua1f'j‘
Organlsatlon '

-' Workforce "diversi‘ty‘ "‘si good for an« "
amsatlon Comment 5 _‘ S

at are the essentxals for a good mcentxve i_ |

at do you understand by S1x ngma 2 '<

HRMN(MI) (5) o
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4 Discuss the advantages and dlsadvantage . W Or iy

internal and external recrultment i | eﬂy on any twa of the follawmg
' ‘ Lo Sy ;‘ ., e 5’(2"'10

Explam the various types of tests and mte
. which are held durmg the selectlon procﬁ
; DeSCI‘le bneﬂy . . o L ity
~ b o mpact of :grabalisati;mi@ on HRM
"HRM is an 1mportant part m the pro 0
_.functlomng of an orgamsatlon v Explam Distinction between Dom
s sl e International HRM -

&

“ Manager 1n an organlsatlon and the quahtl
should possess '

_ Brleﬂy descrlbe the various factors lnﬂu' ¢
- the determmatmn of wage and salary struc
" an orgamsatlon

i

and how can they be made successﬁal i
' 'orgamsa‘uon 20

e
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